Applying the Sociological Perspectives Lab

Using the three sociological perspectives, describe what is happening in various hypothetical scenarios.

SCENARIO 1
Blake and Sylvia are debating the topic of why some people are rich while others are poor. Blake believes that some people are rich while others are poor because society offers greater rewards to those who have valued talents and abilities. Sylvia, on the other hand, believes this unequal distribution of wealth exists because of racial and sexual discrimination.

*Which sociological perspective is most consistent with Blake’s beliefs and why? Using the relevant terms and vocabulary, provide reasons for your explanation. 

*Which sociological perspective is most consistent with Sylvia’s beliefs and why? Using the relevant terms and vocabulary, provide reasons for your explanation.. 


SCENARIO 2
“Human beings are born fully formed social beings, without the need for social interaction.” Provide at least THREE things a symbolic interactionist would say in response to this statement. 


SCENARIO 3
Many Native American groups have complained that major sport team mascot names such as the Kansas City Chiefs, Washington Redskins, Atlanta Braves, and the Cleveland Indians are insensitive to their heritage. Using the basic assumptions of symbolic interactionism, defend OR condemn the use of Native American references in team mascot names.


SCENARIO 4
Your grandparents had 14 children; your parents had 8 children. You are expected to take over the family farm when you turn 30. You will be getting married soon, and your future spouse wants to only have 2 children. Using the concept of functionalism, convince your parents why a smaller family is a better choice for you.
